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SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.
Write down the formula of principal amount.

2156 DBHTens-g H1ewT 2 S GESTSDS T(19FI5.

Find the simple interest on Rs. 3,000 at 6 i % per

annum for the period from 4th -Feb, 2005 to 18t
April, 2005.

4% -Feb, 2005- el mpey 18t April, 2005 SUEN & (G LD

6 i % eulgeigid ¢m. 3,0005 safleu iy -5 srams.

If interest is compounded annually, then write
amount formula. :

aumLSSDHE gl (h) eulig sensd (Hensuilen,
Qgnevssaner GEHTHmS (PSS '

Find the compound interest on Rs. 16,000 at 20%
per annum for 9 months, compounded quartely.

9 wrsEsERsE. WaThEG 20% 6isn m. 16,0006
& (H g snans. (16 uaTHEE sansd [Hs).
Evaluate : log,(27).

wHI9ESs : log,(27).

Define : Dead Heat Race.

e arieudm @B UBSWLD — euenyuig).

Write the formula of total surface area of the cone.
abller Guwrgs Copuriy uiueTme — ST 2 Fajlb
GSETD-g TWEIS.

Write the formula of volume of sphere.

CarargHlen san oaral-g sTaw 2.sa D GSSHID-B
GT@Q]E £

Write the formula of area of 4-walls of a room.
4-geuiigamards GQarawi g -Si@muier ugliLeney-gg

STewT 2 FaIb GSSITID er(pg!s.
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10.

kil

12.

Write the formula of area of a rhombus.

Qearsrgdlear uFLLTal-g &Ta 2 Fed GSHrb-5
T(LPEIS.

(@)

(b)

(a)

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

A sum of Rs. 12,500 amounts to Rs. 15,500 in
4 years at the rate of simple interest. What
is the rate of interest?

m. 12,500 Ggrenswineng 4 yan@safld saf
ey eigd . 15500 Gmsgn el el
igsenss srems.

Or

A sum fetched a total simple interest of
Rs. 4,016.25 at the rate of 9% per annum in

"5 years. What is the sum?

5. 4,016.25-er Quorss safleu g eflene Qumid
Qzmenss@ 5 B saiien gm suBLsSnsE 9%
el 46550 GYBHST, 2L Q5Tens-5 STems.

What 1s the difference between the

compound interests on Rs. 5,000 for 14+

years at 4% per annum compounded yearly
and half yearly?
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13.

(b)

(@)

()

13 peméE 4% cul g eligd op. 500066 sl @
Qlly AaF GHLSSDGL WwHHD ey
unLsSNGD Qe Cw ey eA5Hewnsd
GTEHTGH ? :
Or
A sum of money invested at compound
interest amounts to Rs. 4,913 in 3 years at
6+% per annum. Find the principal
amount. (Compounded annually)
o GALGLL Qgt@s-g si® el
el Gewgde Cgramsser . 4,913, 3 -
SFOT-5E6 1% il geisd < oaTHEE
BmEGwmde sigw Asrams erarar? (sl () iy
UGL-SHDEES)

&(HS 5-[10g——5—210g£+10g 32]
il bt 5 9 243 | -

Or

A canrun 1 km in 3 min. 10 sec. and B can
cover the same distance in 3 min. 20 sec. By
what distance can A be at B?

A eremueuit 3 Hlifi b 10 Apmgsafle 1 £.8 gy
guyamt. wHmd B aauat 2Cs girsms sLES

3 BiflLib 20 Qpmg &6t gyaig). erafled A eremueuir

B-g 5._&& gy erenen?
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14.

15.

(a)

(b)

(2)

(b)

If the diagonal of a rectangle is 17 c.m. long
and its perimeter is 46 c.m. find the area of
the rectangle.

@M Geduaussdler apeneed b 17 c.m. giyb
LHPL s &Hpere] 46 cm. eafle
Qecusugglen LiriLeTe, eTaar?

Or

If the radius of a circle is decreased by 50%.
Find the percentage decrease in its area.

@n aLgdar b 50% &g GansEL
<pufler isaienLw uTiueTeild Gmnub % a5
Greman?

Find the volume and surface area of a cuboid
16 m long, 14 m broad and 7 m high.

16 18 Semb, 14 8 wsob wHmb 7 B8 o wmb
Qarew. satlsdicuasdSlen @ ey LHHID
Gupuriy uylUeTe -] eTemne?

Or

The surface area of a cube is 1734 sq. cm.
find its volume.

em sasgrsdear Copugly  umluerey
1734 sq.cm eafler Sigapwu se1 SyeTey

GTasTEn ?
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16.

3l

18.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Mr. Thomas invested an amount of Rs. 13,900
divided in two different scheme A and B at the
simple interest rate of 14% per annum and 11%
per annum respectively, If the total amount of
simple interest earned in 2 years be Rs. 3,508.
What was the amount invested in scheme B?

m. 13.900-g Gfss @ren® Campult Hlid A
womb B-& Mr. gmbev erenueui yeirqhEE 14%
LHnD pargHEG  11%  eulgeisd  pepCGu
paflailinh@ eppd® bawgt. Qran®d yardsEnss
Upg sefleuly wab sdbunflss Quorss Osras
ah. 3.508, erafler S b B-éb paa@s0smms ereman?
If Rs. 500 amounts to Rs. 583.20 in two years

compounded annually. Find the rate of interest
per annum.

Qrem@® eamBseiidr e 500 Qsresureng
. 583.20-8 Qmés &ML ey EIGDES
sarrsSl([Hmuller, @y amg HéE el iy eisLd ereren?

Show that

[ : + g + : ] =0
log(p/q)x log(g/r)x log(r/p)x g

1 1 1
o - 0 2
[log(p! q)x i log(g/r)x i log(r/ p)xJ o

SM_(Hs.
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19.

20.

If each side of a square is increased by 25%. Find
the percentage change in its area.

em FarsHen  @aleunm  ussupbd  25%
2fsfsEbomtea  ssamw uglueTey-ulléd
FHU@OLD 5655 LTHDHLD ererer?

If the surface area of two spheres are in the ratio
of 4:25, then what are the ratio of their volumes?

Quan(® Camermser-en Cupuriny urlueTe-sefler
cifipd 4:25 araflehr BymeUBEEMLIW ST SjETOYEET- 6
el flgid eresran?
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